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Test Directions

1. Complete the information requested on the answer sheet.

PRINT YOUR NAME on the “Name” line.

PRINT the name of the event, BUSINESS CALCULATIONS on the “Subject” line.

PRINT the name of your CHAPTER on the “DATE” line.

2. All answers will be recorded on the answer sheet.

Please do not write on the test booklet.

Scrap paper will be provided.

3. Read each question completely before answering.  With a NO. 2 pencil, blacken in your choices completely on the answer sheet.  Do not make any other marks on the answer sheet, or the scoring machine will reject it.

4. You will be given 60 minutes for the test.  You will be given a starting signal and a signal after 50 minutes have elapsed.

Tie will be broken using the last 10 questions of the test.

1. If you had a nickel, a dime, a quarter, and a fifty cent piece, what fractional part of a dollar would you have?

A. 1/25

B. 13/20

C. 17/20

D. 9/10

2. Megan completed 1/6 of the church quilt while Samantha completed ¼.  What fractional part more of the church quilt did Samantha complete than Megan?

A. 1/12

B. 5/12

C. ½

D. 7/12

3. When installing a sub-floor using 1-inch by 8-inch boards laid diagonally, 18 percent is allowed for waste.  How many board feet will be wasted out of 1,350 board feet?

A. 144 feet

B. 243 feet

C. 369 feet

D. 594 feet

4. The record high temperature of 134˚F was recorded in Death Valley, California, in 1913.  The record low was -80˚F at Prospect Creek, Alaska, in 1971.  What is the difference between the highest and lowest temperature?

A. 54˚F

B. -210˚F

C. 214˚F

D. 294˚F

5. Ashilla Grant started her actuarial exam at 9:45 a.m. and worked on it for 6 ½ hours.  What time did she finish?

A. 3:15 p.m.

B. 4:15 p.m.

C. 4:30 p.m.

D. 5:15 p.m.

6. The cafeteria received 32 cases of milk each day.  Each case contains 24 half-pint cartons.  How many gallons of milk are received each day?

A. 24 gallons
B. 48 gallons

C. 128 gallons

D. 144 gallons

7. A soft drink is sold in 355 milliliter cans.  How many liters are in a six-pack?

A. 2.13 L

B. 21.3 L

C. 213 L

D. 2130 L

8. The International Herald Tribune sold for 1.5 euros in Frankfort, Germany.  At the given rate of exchange, how much would it sell for in British pounds, if the U.S. Dollar Equivalent exchange rate to the Eurodollar is 1.3567 and 1.9185 to the Britain pound?

A. $2.12

B. $2.60

C. $3.84

D. $3.90

9. What is the total cost of these grocery items: tissues $1.29, coffee $6.99, orange juice $1.89, T-bone steak $7.99, oatmeal $1.99, cocoa mix $3.89 and a jar of salad dressing $1.99?
A. $24.04

B. $26.03

C. $26.12

D. $28.02

10. Ben Cornell and Tom Ingulli drove to Chicago—a distance of 510 miles.  Their car gets 23 miles per gallon of gasoline.  Gasoline costs them $3.59 per gallon.  How much did they spend for gasoline on their trip?

A. $32.67
B. $42.11

C. $79.60

D. $183.09

11. Richard Anderson sells magazine subscriptions and receives a weekly salary of $145.  He also receives a $3 bonus for each subscription that he sells.  Last week his gross pay was $202.  How many subscriptions did Anderson sell last week?

A. 12

B. 19

C. 48

D. 67

12. Victor Haddad sold 8 pumpkins for $2.75 each, 9 for $2.00, 24 for $1.50 each, and 15 for $1.00 each.  He receives $0.35 for each pumpkin sold plus a $10.00 bonus if his sales total $75.00 or more.  How much did he receive?

A. $19.60

B. $29.60

C. $31.85

D. $41.85

13. Xavier Zermeno worked through 174 pages of a 408-page computer training manual.  It took him 2 days to work through the remaining pages.  If he worked through the same number of pages each day, how many pages did he work through each day?

A. 113
B. 117

C. 119

D. 147

14. Hoshi Sato worked 40 hours at $6.75 per hour.  He worked 5 hours at $8.00 an hour.  How much money did Sato earn?

A. $40.00

B. $240.00

C. $270.00

D. $310.00

15. The Parkers spent $42.78, $45.91, and $41.15 in 3 visits to the grocery store.  Their food budget is $150.  How much money do they have left to spend for food?

A. $20.07

B. $20.16

C. $20.17

D. $129.84

16. The temperature in the production department is 21˚C at 12 noon.  If the temperature increases 1.5˚C every hour, what will the temperature be at 5 p.m.?

A. 27˚C

B. 28.5˚C

C. 30˚C

D. 31.5˚C

17. Flora Sturgeon walks 4 miles round-trip 3 times a week to work.  How far will she walk in 1 year?

A. 600 miles

B. 624 miles

C. 1,040 miles

D. 1,248 miles

18. John Piotrowski assembled a total of 642 circuit boards in 3 days of work.  During the first 2 days, he assembled 211 and 208 circuit boards, respectively.  How many did he assemble the last day?

A. 210

B. 214

C. 223

D. 353

19. In a one-month sales contest, Ernie Johnkovich earned 4 two-point certificates, 2 three-point certificates, and 6 one-point certificates.  How many points did he earn for the month?

A. 12

B. 17

C. 20

D. 36

20. Seventeen hundred tickets costing $5 each were sold for a scholarship fundraiser.  One prize of $2,000, 3 prizes of $1,000, and 5 prizes of $250 were given away.  How much money did the scholarship fundraiser make?

A. $2,250
B. $3,250

C. $3,500

D. $5,250
21. Pepe Garza, sales leader for the past month, earned 47 one-point certificates.  If he earned a total of 68 points, how many three-point certificates did he earn?

A. 7

B. 16

C. 23

D. 38

22. Deborah Miles bought 3 T-shirts for $7.50 each and a sweatshirt for $22.95.  How much change did she receive from a $50 bill?

A. $4.55

B. $12.05

C. $19.55

D. $27.50

23. Adahy Catolst saved $212.  After he earned an additional $124, he spent $149 for a small color TV, $35 for a rugby shirt, and $79 for a pair of sneakers.  How much did Catolst have left?

A. $51

B. $73

C. $143

D. $175

24. Ursula VanMeer bought 100 shares of stock at $18 per share.  One year later, she sold all her shares at $23 per share.  How much did she make on her stock?

A. $5.00

B. $41.67

C. $50.00

D. $500.00

25. Emil Wauseka is buying a used car with a total purchase price including interest of $14,987.  He plans to make a $3,000 down payment and to finance the rest for 5 years.  How much will his monthly payments be?

A. $199.78
B. $245.48

C. $254.48

D. $299.78

26. What is the median for the following group of numbers:  91, 92, 85, 98, 100, 76, 80, 75?
A. 85

B. 87 1/8

C. 88

D. 697

27. Clayton Burrington purchased the following school supplies on sale:  a $2.79 notebook for $1.99, a $1.49 ballpoint pen for $0.99, a $1.99 pack of notebook paper for $0.99, and a $3.49 automatic pencil for $2.79.  What is the total savings?

A. $3.00

B. $6.76

C. $9.76

D. $16.52

28. It is 1,300 feet around the bicycle test track.  How many times must you ride around the track to ride 1 mile?

A. 1.5

B. 3.8

C. 4

D. 4.06

29. Fruit baskets containing 6 apples, 4 oranges, and 2 grapefruits are on sale for $10.98.  If you have 148 apples, 121 oranges, and 64 grapefruits.  What is the total number of baskets you can make in fruit baskets?

A. 24

B. 27

C. 30

D. 32

30. The Theatre Club sold a total of 415 tickets.  The adult tickets cost $5 and the children’s tickets cost $3.  If $1,615 was collected, how many adult tickets were sold?

A. 93

B. 185

C. 230

D. 323

31. There are 56 stools in the storeroom.  Some stools have 3 legs and some have 4 legs.  If there are 193 legs, how many 4-legged stools are in the storeroom?

A. 25

B. 31

C. 36

D. 48

32. On the first day of school, your teacher agrees to allow 1 minute of “fun” at the end of the first day, 2 minutes on the second day, 4 minutes on the third day, 8 minutes on the fourth day, and so on.  How much time will you have for “fun” at the end of 10 days?

A. 55 minutes

B. 512 minutes

C. 1,023 minutes

D. 1,024 minutes

33. A 5-pound bag of lawn food sells for $3.25 and a 3-pound bag sells for $2.29.  You need 17 pounds of lawn food.  What is the least amount you can pay and buy at least 17 pounds?

A. $5.54

B. $11.05

C. $12.04

D. $16.25

34. Chantel McDale earns $12 per hour Monday through Friday and $18 per hour on weekends.  One week, she worked 49 hours and earned $654.  How many hours did she work on the weekend?

A. 9 hours

B. 11 hours

C. 18 hours

D. 38 hours

35. Julio Montoya earns $16.80 per hour for a 40-hour work week.  How much more per week would Montoya earn if he received a 10 percent increase in his hourly rate?

A. $1.68

B. $18.48

C. $67.20

D. $739.20

36. Krio Packaging Corporation averaged 158 units per day for Monday through Thursday.  How many units would have to be produced on Friday for Krio to average 165 units per day for Monday through Friday?

A. 162

B. 185

C. 193

D. 202

37. Malcolm Freddy starts out on a 100-mile bicycle ride at 9:00 a.m., averaging 12 miles per hour.  At 11:00 a.m., Justin Garret starts out on the same route, averaging 18 miles per hour.  At what time would Garret catch up with Freddy?

A. 2:00 p.m.

B. 2:30 p.m.

C. 2:45 p.m.

D. 3:00 p.m.

38. Robert is thinking that his father is 7 years more than twice his own age, and his grandfather is 4 years less than twice his father’s age.  If Robert’s grandfather is 70 years of age, how old is Robert?

A. 15

B. 17

C. 31

D. 37

39. A recipe for 24 medium-sized pancakes required 2 eggs.  Eggs are sold in cartons of 12 eggs.  The Central High School band boosters plan to serve 240 people an average of 3 pancakes each.  How many cartons of eggs are needed?

A. 2 cartons

B. 5 cartons

C. 8 cartons

D. 10 cartons

40. Cab Company charges a flat fee of $3.75 plus $0.30 for every ¼ mile driven.  Dick Lewis paid a driver a total of $7.95 for a trip from the airport to his office.  How many miles did he travel?

A. 3 ½ miles

B. 4 ½ miles

C. 4 2/3 miles

D. 14 miles

41. A football field is 100 yards long and has a distance around of 308 yards.  How wide is it?

A. 30.8 yards

B. 54 yards

C. 104 yards

D. 108 yards

42. Kotori and Lenmana Tewamina make monthly payments of $727.20 on their $80,000.00 mortgage.  They will have paid $138,160.00 in interest when their mortgage is paid off.  For how many years is their mortgage?

A. 11 years

B. 16 years

C. 25 years

D. 30 years

43. Harry, Jerry, and Darrel have a combined weight of 599 pounds.  Jerry weighs 13 pounds more than Harry, while Harry weighs 5 pounds more than Darrel.  How much does Jerry weigh?

A. 192 pounds

B. 197 pounds

C. 205 pounds

D. 210 pounds

44. John North has a paper route of 73 daily customers and 46 Sunday customers.  North earns $0.25 more for each Sunday paper he delivers compared to the Monday through Saturday deliveries.  If he earns $84.10 per week, How much does he earn from each daily delivery?

A. $0.61

B. $0.68

C. $0.86

D. $0.91

45. The rectangular area allotted to the shoe department of a store has a perimeter of 96 feet.  The length of the rectangle is 8 feet longer than the width.  What is the width of the rectangle?

A. 16 feet

B. 20 feet

C. 22 feet

D. 44 feet

46. A survey of 150 people revealed that 121 people watch the early evening TV news, 64 watch the noon news, and 47 watch both.  How many do not watch either one?

A. 12

B. 17

C. 18

D. 29

47. Carol earns $8.00 an hour as a word processor.  She earns time and a half for any hours over a 35-hour work week.  How much does she earn if she works a 55-hour work week?

A. $440

B. $500

C. $520

D. $660

48. A bicyclist travels at an average rate of 15 mph.  If she rides for 6 hours a day, 6 days a week, how many weeks will it take her to travel 21,060 miles?

A. 36 weeks

B. 39 weeks

C. 59 weeks

D. 90 weeks

49. Jamal Parker works at a company that uses military time to keep track of employees’ work hours.  On Monday, October 1 Parker worked from 8:02 to 11:47 and from 13:08 to 17:06.  How many hours and minutes did he work on Monday?

A. 6 hours 59 minutes

B. 7 hours 3 minutes

C. 7 hours 43 minutes

D. 7 hours 59 minutes

50. Gabriella Santos is a Little League umpire.  She is paid $20 per game on weekdays and $25 per game on weekends.  She umpired 14 weekday games and 3 weekend games.  What is her total pay?

A. $335.00
B. $340.00

C. $355.00

D. $382.50

51. Ryan O’Malley is paid either a commission or by the hour, whichever is greater.  His hourly pay is $8.00 per hour with time and a half for all hours that exceed 40 hours per week.  His commission is 7 percent of his sales.  Find his gross pay in a week in which he worked 48 hours and his total sales for the week were $6,120.

A. $416.00

B. $428.40

C. $844.40

D. $1,004.40

52. Carole Vanderlan is a veterinary assistant.  Her employer pays 75 percent of her medical insurance and 40 percent of her dental insurance.  Medical insurance costs $3,900 per year and dental insurance costs $750.  How much is deducted weekly for medical and dental insurance

A. $27.40

B. $62.02

C. $33.61

D. $89.42

53. Rafael Valderez owns a carryout shrimp business.  On Saturday, he deposits checks for $26.27 and $19.53 in his savings account.  He also deposits 138 one-dollar bills, 62 five-dollar bills, 81 ten-dollar bills in currency, 60 quarters, 97 dimes, 59 nickels, and 42 pennies in coins.  What is his total deposit for the week?

A. $1,313.87

B. $1,331.87

C. $1,374.51

D. $1,385.72

54. Teresa Estrada received her savings account statement.  Her previous balance was $2,039.63.  On May 31 her account earned $3.39 in interest.  On June 5 she made a deposit of $708.00, and on June 14 she deposited $375.00.  On June 28 she withdrew $1,412.56 to purchase new kitchen appliances.  What is the balance in her account on June 28?

A. $963.46

B. $1,706.68

C. $1,713.46

D. $2,372.58

55. Rodolfo Ortega deposited $4,200 in a new savings account.  The bank pays 5 ¼ percent simple interest computed on a daily basis.  He made no other deposits or withdrawals.  How much simple interest will his money earn after 214 days?

A. $129.28
B. $131.08

C. $202.31

D. $220.50

56. Alison Strauss deposited $2,500 in a savings account which pays 5 ¼ percent interest compounded quarterly.  She made no deposits or withdrawals.  What was the amount in the account at the end of the second quarter?

A. $2,565.63

B. $2,566.05

C. $2,631.25

D. $2,700.77

57. Travis Irving bought a campfire grill for $79.96, a sleeping bag for $29.95, and a fishing rod for $34.99.  He lives in Mississippi where the sales tax is 7 percent.  What is the total cost of his purchase?

A. $144.90

B. $155.04
C. $155.40

D. $156.49
58. Laundry detergent is sold in a 100-ounce plastic container for $7.07 or in a 200-ounce container for $10.57.  How much per ounce would you save by buying the better deal?  (rounded to the nearest hundredth cent)

A. $.0179

B. $.0180

C. $.0529

D. $.0707

59. Colin Scott received his charge account statement.  It showed a previous balance of $74.22, a finance charge of $1.11, new purchases of $351.38, a credit for $69.95, and a payment of $175.00.  What is the new balance?

A. $181.76

B. $251.71

C. $321.66

D. $671.66

60. Hannah Blake received her charge account statement for the billing period of 7/25 through 8/24.  Her previous balance was $655.79.  From 7/25 through 8/17, she had an end-of-day balance of $655.79.  Her payment of $555.79 was posted on 8/18.  What was her average daily balance for the billing period?

A. $509.13

B. $526.11

C. $530.29

D. $544.63

61. Isaac Gates received his charge account statement for the billing period of 7/28 through 8/27.  He has a previous balance of $1,425.77.  His payment of $875.00 was posted on 8/6.  The finance charge is 1.75 percent of the average daily balance.  What is the finance charge?

A. $13.98

B. $14.08

C. $14.58

D. $14.74

62. Andrea Nguyen borrowed $14,200 to expand her carpentry business.  The bank granted her a single-payment loan of $14,200 for 120 days at ordinary interest.  The interest rate is 12.75 percent.  What is the maturity value of her loan?

A. $14,215.09

B. $14,795.23

C. $14,803.50

D. $19,525.00

63. Matt Yokohama purchased a fountain for his newly landscaped backyard.  The fountain cost $677.  He made a down payment of 15 percent.  What amount did he finance?

A. $101.55

B. $474.45

C. $575.45

D. $778.55

64. Raymond Harris took out a simple interest loan of $4,300 at 10 percent for 30 months.  His monthly payment is $162.54.  After 6 payments the balance is $3,523.75.  If he pays off the loan when the next payment is due, how much will he save?

A. $198.99

B. $347.85

C. $359.21

D. $846.65

65. A car’s base price is $19,015.  Options: sport appearance package $1,224, power driver’s seat $246, premium sound system $319, removable hatch roof panels $905, destination charge is $600.  What is the sticker price?

A. $15,721

B. $21,709

C. $22,309

D. $22,327

66. Kim Leung drove a SUB 11,500 miles.  Fixed costs totaled $3,343.  Variable costs totaled $1,511.  What was the cost per mile?

A. $0.14

B. $0.29

C. $0.42

D. $0.56

67. Lease a four-door car for 48 payments of $269.69 per month.  Deposit of $269.69.  Title fee of $60.  License fee of $75.  What is the total lease cost?

A. $12,675.43

B. $12,810.43

C. $12,945.12

D. $13,349.81

68. Gina Durkin rented a car for 3 days at a cost of $53 per day plus $.55 per mile.  She took the collision waiver of $9.95 per day.  She drove 652 miles.  Gasoline cost $76.  What was the cost per mile?

A. $0.84

B. $0.88

C. $0.93

D. $0.96

69. Santos and Anna Rivera made an offer of $158,000 on a home that was priced at $164,000.  Their offer was accepted.  They made a down payment of 25 percent and financed the remaining amount.  What was the amount of the mortgage?

A. $117,000

B. $118,500

C. $151,680

D. $155,500

70. A townhouse’s market value is $163,000.  Rate of assessment is 36 percent.  Tax rate is $75 per $1,000.  What is the annual real estate tax?

A. $3,396

B. $4,401

C. $7,824

D. $12,225

71. Dwight and Autumn Higgins recorded their housing expenses for the month of June:  mortgage payment, $1,053; insurance, $38.35; taxes, $362, electricity, $101.74; gas heat, $38.37; garbage pick-up, $28.08, telephone service, $72.54; satellite TV, $65.53; cell phone, $72.89; high-speed Internet service, $55.74.  Their combined monthly take-home pay is $6,328.  What is their total housing cost for June?

A. $1,888.24

B. $4,439.76

C. $5,052.24

D. $8,216.24
72. Paul Esnerado has a family PPO group medical insurance plan.  The total cost is $13,900.  His employer pays 85 percent of the total cost.  He also has the optional annual dental (which costs $950) and the optional vision care (which costs $315).  His employer pays 50 percent of dental and vision costs.  How much is deducted each week from his paycheck for medical, dental, and vision insurance?

A. $34.95

B. $40.10

C. $43.75

D. $52.26

73. Lionel LeGrand owns 200 shares of stock in a food manufacturer.  The stock had a high of $43.95 and a low of $30.00 during the year.  The stock paid an annual dividend of $0.52 per share.  What is the annual yield based on the high?

A. 1.18%

B. 1.73%

C. 5.2%

D. 6.8%

74. Trebor Technology is recruiting for a programmer position that pays an annual salary of $38,000.00.  The company spends $859.50 in advertisements and hires the Quality’s fee is 25 percent of the first-year salary.  Trebor spends $1,287.98 on interviews and hires one of Quality’s candidates.  What is Trebor’s total recruiting cost?

A. $2,147.48

B. $9,500.00

C. $11,647.48

D. $49,647.48

75. Kendra Gomez earned $48,214.00 last year.  This year she receives a cost-of-living adjustment of 4.2 percent and a merit increase of 2.9 percent.  What is her new salary?

A. $3,423.20

B. $49,612.21

C. $50,238.99

D. $51,637.19

76. Joseph Sandis, a marketing representative for Sully Seafood, recently traveled out of town for a sales conference.  His travel expenses included $358.00 for airfare, a car rental for 4 days at $24.25 a day, plus a fuel charge of $16.00.  His hotel bill was $429.60 and his meals cost $83.38.  What was Sandis’s total travel expense?

A. $900.60
B. $911.23

C. $983.98

D. $1,031.98

77. Yell Textiles manufacture rugs.  They plan to manufacture small rugs to be sold at $22.99 each.  The fixed costs are estimated to be $265,490.  Variable costs are $16.82 per unit.  How many rugs must be sold for Yell Textiles to break even?

A. 11,548

B. 15,784

C. 27,332

D. 43,029

78. What is the net price on a rug that has the list price of $105.59 and a trade discount rate of 32%?

A. $33.79

B. $67.58

C. $71.80

D. $139.38

79. What is the trade-discount rate on a guitar that the list price is $239.50 and the net price is $155.67?

A. 35%

B. 47%

C. 54%

D. 65%

80. Propco Marine is discontinuing a certain type of fishing pole and is offering a chain discount of 35/20/10.  The list price of the fishing pole is $67.59.  What is the net price?

A. $23.66

B. $31.63

C. $35.96

D. $43.93

81. Blue Crystal purchases glasses and marks them up 45 percent of the selling price.  A juice glass costs Blue Crystal $4.89.  What is the selling price?

A. $7.09

B. $8.89

C. $10.87

D. $11.09

82. Out of 14,000 college professors in a sample, 980 preferred a new grade book.  The estimated market size is 950,000.  Each professor uses about 2 grade books a year.  What is the annual sales potential?

A. 1,960

B. 28,000

C. 133,000

D. 644,100

83. Cobalt Motors plans to advertise with two 10-second prime-time commercials and five 30-second daytime commercials.  The rates are $6,800 for 30-second daytime commercial and $14,900 for a 30 second prime-time commercial.  Any time less than 30 seconds will be charged at a rate of 50 percent.  What is the cost of the advertising?

A. $21,700

B. $41,450
C. $43,933

D. $48,900

84. If a carton measures 3 m x 6 m x 4 m and you have 60 cartons, what is the total volume?

A. 720 m3

B. 780 m3

C. 4320 m3
D. 4330 m3
85. If Flash Lighting Inc. bought 70 lamps on July 1 at $12.59, 71 lamps on July 14 at $12.65, and 68 lamps on July 29 at $12.70, what was the average cost of the lamps?

A. $12.62

B. $12.65

C. $12.67

D. $12.68

86. Uxbridge Enterprises cleans and maintains an office area that is 60 feet by 65 feet.  The contract calls for $6.25 per square foot annually.  What is the monthly charge?

A. $65.10

B. $781.25

C. $2,031.25

D. $2,437.50

87. The Wellrite Company rents office furniture for three months.  The rental charge is 12 percent of the list price.  The list price is $2,490 and the tax rate is 6 percent.  What is the total rental cost?

A. $334.65

B. $896.40

C. $950.18

D. $1,045.80

88. Find the cost of goods sold for a business that has a beginning inventory of $35,000, receipts of $13,000, and an ending inventory of $37,000.
A. $11,000

B. $37,000

C. $50,000

D. $85,000

89. Stella borrowed $50,000 from a bank that charged 3.15 percent interest over prime on the loan.  The term of the loan was 45 days.  The prime rate is 5.75 percent.  What was the maturity value of the loan?

A. $50,359.38

B. $50,548.63

C. $50,556.25

D. $54,450.00

90. The owner of Renko Electronics plans to expand the business by selling products online.  The company pays legal fees of $18,500 and purchases computer equipment for $15,090.  A Web designer is hired for 30 hours at $45 per hour.  What is the total cost for the expansion?

A. $20,144

B. $33,635

C. $34,490

D. $34,940

91. Johnson Supply had sales of $14,000 returned merchandise of $380 during one month.  The cost of goods sold was $3,000 and the operating expenses were $1,600.  Find the gross profit on sales.

A. $9,020

B. $10,620

C. $11,380

D. $12,220

92. Find the total electricity cost for the month.  Usage:  15,000 kWh.  Peak load:  100 kW. Demand Charge:  $6.95 per kW.  Energy charge:  $0.067 per kWh.  Fuel adjustment:  $0.018 per kWh.

A. $1,074.50

B. $1,275.00

C. $1,344.50

D. $1,970.00
93. Gray Industries hired the following consultants to assist them with a project:  Landscape architect: 26 hours at $50 per hour, Architect:  6 percent of $750,000, surveyor:  $2,500 flat fee.  Find the total cost.

A. $45,000

B. $47,500

C. $47,550

D. $48,800

94. The Campnow sporting goods store occupies 40 feet by 80 feet in a mall with 64,000 square feet.  The monthly security expenses are $26,000.  The mall apportions this cost based on the square footage of its stores.  What does Campnow pay for security for a year?

A. $1,300

B. $4,875

C. $15,600

D. $58,500

95. What is the quick ratio for a business that has total assets of $256,000, inventory of $40,000, and total liabilities of $135,000?

A. 1.5:1

B. 1.6:1

C. 1.9:1

D. 2.2:1

96. Blake’s Nursery purchased a truck for $40,000.  The truck is fully depreciated in 6 years.  Fixed percents are 32 percent, 20 percent, 19.20 percent, 11.52 percent, 11.52 percent, and 5.67 percent.  What is the book value of the truck at the end of the fourth year?

A. $3,729.60

B. $6,912.00
C. $11,520.00

D. $33,088.00

97. Noah’s Toys buys pinwheels from a manufacturer for $0.45 each.  Noah’s Toys marks up each pinwheel 342 percent of cost.  If Noah’s Toy’s buys and sells two gross of the pinwheels, what will be their total gross profit?

A. $129.60

B. $221.61

C. $443.23

D. $443.52

98. What is the single equivalent discount of the chain discount of 35/20/10?

A. 35%

B. 46.8%

C. 53.2%

D. 65%

99. Jenna Fields is a die cut machine operator.  She makes 105 shoe soles from one piece of rubber.  Each sheet of rubber costs $3.95.  Fields is able to make 1 every 5 seconds.  The direct labor cost is $17.50 per hour.  What is the prime cost of manufacturing one shoe sole to the nearest tenth of a cent?
A. $0.062 

B. $0.76

C. $1.396

D. $1.458

100. Joe Yanni worked for 31 years before becoming disabled at 59 age.  His expected retirement age was 70 and his final salary was $65,285.  His rate of benefits is 2.0 percent.  What is Yanni’s disability benefit?

A. $40,476.70

B. $50,922.30

C. $50,983.14

D. $54,839.40
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